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What is the value of 44 x 12 — (25 +

13 % 10)? (SSC CHSL PRE
44 x 12 - (25 + 13 x 10) FTam @ 2022)
o ? (/_: \>

(2) 613 (b) 633 (c) 573 (d) 373 N



912151 SSC 2023 AN TE

What is the value of a/ a T HT9 JTd hifory

? (SSC CHSL PRE
15+18+3%x5-12+4+a=100 2022)

(a) 54 (b) 58 (c) 48
(d) 42 ( 20 D
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Find the value of x if

X = 0.05 x 0.36 + 0.4 + 0.055 + (Zsogg CHSL PRE
1.50 + 0.03 s
<\ =it \>

(a) 55.1 (b) 49.9 (c) 50.1 (d) 45.9
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The value of
117 + 45 of (1/5) + (12/5) x (20/3) is:  (5SC CHSL PRE
@)28 (b)29 (c)31 (d)27 2022)




912151 SSC 2023 AN TE

What is the value of
2160 x 3 +144 + 13 -2 (SSC CHSL PRE

(a) 56 (b) 57 ©59  2022)

(d) o4 ( ¥ s\ j
L ofar 1 \
_j\ 25 l— L" [~usd_
\ S\\\ A
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What is the value of
M0x3+9+4+2x30f4%x8+(18x2-4)=?

(SSC CHSL PRE
2020)

o P—— N
/
/ \
s K
\-_.\/, p*
" Tk
[« l— : ' »
\ V. P AL
= \e b LI
\ = y



What is the value of

=7
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20f2+1;i
3 4 (SSC CHSL PRE
1—§+4><(1+ ) 2022) B
174 o
(a) 7/10 ( 20 \
(b) 9/19 SSWe72
(c) 19/10
(d) 7/11
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|72 +-94+3-6-(2%x3)+50f3-(1+5X%Xx2-— 2)]

8+4+2—(6%X8+2)+(7x4-2%2)
(SSC CHSL PRE

(a) 1 1/ 4 /\ -\ L /‘f\:‘\

(b) 5/4 .

(c)0
(d) 15/4
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|72 +-94+3-6-(2%x3)+50f3-(1+5X%Xx2-— 2)]

8+4+2—(6%X8+2)+(7x4-2%2)
(SSC CHSL PRE

(a) 1 1/ 4 /\ -\ L /‘f\:‘\

(b) 5/4 .

(c)0
(d) 15/4




(SSC CHSL PRE

P s
g 4 /// \\ /_:v/
“‘( -‘l ' \ }
/‘/\f‘, 3 AT
s _ :




912151 SSC 2023 AYNITE

3/4 of (1/3 + 1/2) + (2 - 2/5) x 3/2 + 2/3 = ?
(SSC CHSL PRE

1. 107/30 £
2.101/6 ;

3. 109/17
4. 103/25







